仕訳問題　その２　（解答）
仕訳問題　その２　（解答）

	
	仕　　　　　　　　　　　　　　　訳

	
	借　方　科　目
	金　　　額
	貸　方　科　目
	金　　　額

	1

	建物
修繕引当金
修繕費
	300,000
450,000
250,000
	当座預金
	1,000,000

	2

	前受金
	4,000,000
	売上
	4,000,000

	3

	支店
	250,000
	損益
	250,000

	4

	手形借入金
支払利息
	800,000
15,000
	手形借入金
	815,000

	5

	売掛金
仕入
	850,000
520,000
	売上
未着商品
	850,000
520,000

	6

	受取手形
	450,000
	売掛金
	450,000

	7

	繰越商品
棚卸減耗費
商品評価損
	320,000
12,800
19,200
	仕入
繰越商品
繰越商品
	320,000
12,800
19,200

	8

	研究開発費
	920,000
	当座預金
	920,000

	9

	売上割戻引当金繰入
	2,000
	売上割戻引当金
	2,000

	10

	特許権償却
	150,000
	特許権
	150,000


※　仕訳1つにつき1点×10問＝10点満点






